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Answer all the questions.

Section A — Module C1

This question is about carbon compounds.

Look at the displayed formulas of some compounds.

i T
(@)
H—c—cZ H—C—C—0—H
I O—H I I
H H H
ethanoic acid ethanol
H H
\ /
cC=CcC
/ \
H H
ethene
i i
H—C—H H—C—O—H
I I
H H
methane methanol

(a) Methane is an alkane.

Explain how you can tell from the displayed formula.

(b) Write down the name of a compound that is an unsaturated hydrocarbon.

Choose from the compounds shown.

(c) Write down the molecular formula of ethanoic acid.

(d) Ethene reacts with bromine, Br,, to form dibromoethane, C,H,Br.,.

Write a balanced symbol equation for this reaction.

© OCR 2012
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John and Sue are building a new house.

They want to choose the best fuel for their house.

They find out some information about four possible fuels.

annual cost to heat

is it available to

fuel Is it easy to use? the housein £ this house?
coal no 750 yes
LPG yes 972 yes
natural gas yes 720 no
oil yes 750 yes

(@) Which fuel should John and Sue choose?

Explain your choice.

(b) LPG contains propane gas, C;H,.

Write a balanced symbol equation for the complete combustion of propane in oxygen, O,

© OCR 2012
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3 This question is about paint and pigments.

(&) Emulsion paint is one type of paint.

Describe how emulsion paint dries.

(b) Look at the table. It gives some information about pigments.

pigment colour at 20°C colour at 100°C effect of light
A blue blue colour fades
gives off light in
B green green the dark
C blue red no change
yellow yellow no change

Which pigment would be useful on a kettle of boiling water?

(c) Paintis a colloid.

A colloid contains pigment particles mixed with particles of a liquid.

Explain why the pigment particles and liquid particles do not separate.

© OCR 2012
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4 This question is about air pollutants.
Look at the graph.

It shows how the levels of some pollutants found in UK cities have changed from 1990 to 2008.

carbon oxides of sulfur
monoxide nitrogen dioxide
0
-10
-20
-30

percentage —40
changein -50
emission g

-100

The levels of these pollutants have decreased.
Explain, using a chemical equation, possible reasons for these changes.
Explain why it is important that air pollution is controlled.

/ The quality of written communication will be assessed in your answer to this question.

[Total: 6]
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This question is about polymers.

(@) Poly(chloroethene) is a polymer.

Poly(chloroethene) is made from a monomer called chloroethene.

Look at the displayed formula of chloroethene.

\
H Cl

Draw the displayed formula of poly(chloroethene).

(b) The plastic made from the polymer poly(chloroethene) can be used to make water pipes.

One property of poly(chloroethene) is that it is easy to shape.

Write about other properties of poly(chloroethene) that make it suitable for making water

pipes.

© OCR 2012
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(c) Look at the diagrams. They show the structures of two plastics.

icao)

plastic A polymer molecules plastic B

(i) Plastic A can be stretched easily.
Explain why.

(i) Plastic B has a high melting point.
Explain why.

[Total: 6]
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Section B — Module C2

This question is about fertilisers.

Farmers use fertilisers to make crops grow bigger and faster. This increases crop yield.

(@) Explain how the use of fertilisers increases crop yield.

.............................................................................................................................................. [2]
(b) Ammonium phosphate, (NH,);PO,, is used as a fertiliser.

Write down the total number of atoms in the formula (NH,);PO,.

ANSWET .o [1]
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(c) Chloe makes some potassium nitrate by neutralising an alkali with nitric acid.

Look at the diagram. It shows the apparatus she uses.

( burette

== =

| —nitric acid

(i) Chloe adds nitric acid to the flask until the solution is neutral.

Explain, using the ions involved, why the alkali is neutralised by nitric acid.

[Total: 5]
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Look at the photograph of an erupting volcano.

(@)

(b)

© OCR 2012

There were serious volcanic eruptions in many countries in 2010.
Many people’s homes were destroyed.

Suggest why geologists did not predict all these eruptions.

.............................................................................................................................................. [1]
In 1914, Wegener used evidence to propose his ‘continental drift theory’.

In the late 1950s, this became part of a new theory called plate tectonics.

Today, the theory of plate tectonics is widely accepted by scientists.

Explain why.
.............................................................................................................................................. [2]

[Total: 3]
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Concrete is a building material made from cement.

Look at the picture. It shows a pipe made of reinforced concrete.

concrete pipe\

11

steel rod

Look at the table. It shows some properties of concrete and steel.

concrete steel
density in g/cm?3 2.3 7.9
relative strength 40 210
flexibility not flexible has some flexibility
relative hardness very hard very hard

Explain, using information in the table, why reinforced concrete is a composite material and a

better construction material than non-reinforced concrete.

/ The quality of written communication will be assessed in your answer to this question.

© OCR 2012
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9 This question is about industrial processes.
(@) An industrial process makes sulfur trioxide.
Sulfur dioxide, SO,, reacts with oxygen, O,,.
Sulfur trioxide, SO, is made.

Write the balanced symbol equation for this reaction.

(b) A second industrial process makes an acid.

Look at the table. It shows the percentage yield of the acid made at different temperatures
and pressures.

pressurein percentage percentage percentage
atmospheres yield at 200°C | yield at 400°C | yield at 600°C
100 80% 22% 8%
200 92% 40% 14%
300 95% 56% 18%
400 96% 67% 22%

(i) How does increasing the temperature change the percentage yield?

(i) A temperature of 400°C, a pressure of 200 atmospheres and a catalyst are used to
make the acid.

These conditions do not give the highest percentage vyield.

Suggest why these conditions are chosen.

[Total: 6]

© OCR 2012



13

10 Chlorine is made by the electrolysis of concentrated sodium chloride solution.
Sarah investigates this electrolysis.

Look at the apparatus she uses.

hydrogen

gas \/\ o /

chlorine gas

negative electrode
(cathode)

positive electrode
(anode)

Sodium chloride solution contains Na*, OH~, ClI~ and H* ions.
(@) Atthe positive electrode, chloride ions lose electrons to make chlorine gas, Cl,,.
Write the balanced ionic equation for this reaction.

Use e~ to represent an electron.

.............................................................................................................................................. [2]
(b) Look at the list of ions in sodium chloride solution.
Two ions do not react at the electrodes.
Write down the name of the solution these ions make.
.............................................................................................................................................. [1]
[Total: 3]
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11 This question is about metals.

Look at the table. It shows the properties of two metals.

PMT

aluminium iron
density in g/cm3 2.7 7.9
relative electrical conductivity 40 11
relative strength 70 210
cost per tonne in £ 1350 400
Look at the picture of some power lines.
power lines
pylon

The power company makes the power lines from iron surrounded by aluminium.

Explain why the power company makes power lines from iron and aluminium.

Use information in the table.

© OCR 2012
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Section C — Module C3

12 Antacid tablets are used to stop indigestion.
Antacid tablets contain calcium carbonate, CaCO,.
Jennie and Gary investigate the reaction of antacid tablets with hydrochloric acid.
Calcium chloride, CacCl,, water and carbon dioxide are made.

(&) Write a balanced symbol equation for this reaction.

(b) Look at the diagram. It shows the apparatus they use.

| TTTTTTTITTTT
—

J G

|

gas syringe

antacid tablet

e

Jennie and Gary react an antacid tablet with 100 cm? of hydrochloric acid.

hydrochloric acid

Look at the graph. It shows their results.

60

50 =

40 —

AN

volume of
. 3 30
gas in cm y4

20 4

104/

0 1 2 3 4 5 6 7 8 9 10

time in minutes
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How long does it take for the reaction to stop?
ANSWEN eiiiiiiiiiiieeeeeee et minutes [1]

Calculate the average rate of this reaction during the first 2 minutes of the experiment.

ANSWET .eiiiiiiiiiiieiieeeeee ettt UNIE e [2]

The rate of reaction for the first 2 minutes is different to the rate of reaction between 2
and 4 minutes.

Describe how.

(c) The rate of reaction between an antacid tablet and hydrochloric acid can be increased by

* increasing the concentration of the hydrochloric acid

e crushing the tablet.

Explain, using ideas about collisions between reacting particles, why these methods increase
the rate of this reaction.

/ The quality of written communication will be assessed in your answer to this question.
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18
13 Fertilisers and medicines are useful chemicals.

Ammonium sulfate is used as a fertiliser.

fertiliser
contains
ammonium
sulfate

(NH4)2S04
S

Ammonium sulfate is made by reacting ammonia with dilute sulfuric acid.
The ammonia needed for this reaction is made in a continuous process.
This is different to the batch process used to make most medicines.

(@) (i) A continuous process is used to make ammonia but a batch process is used to make
most medicines.

Explain why.

(ii) Itis more expensive to make medicines than it is to make ammonium sulfate fertiliser.

Suggest why.

...................................................................................................................................... [1]
(b) Alex makes some ammonium sulfate in a laboratory.
(i) Alex predicts he should make 8.0g of ammonium sulfate.
He actually makes 6.0g.
Show, by calculation, that his percentage yield of ammonium sulfate is 75%.
...................................................................................................................................... [2]
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(i) The companies who make ammonium sulfate fertiliser on an industrial scale want as
high a percentage yield as possible.

Explain why.

[Total: 7]
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14 Stephanie is investigating some liquid fuels.

Stephanie investigates the energy given out by three different fuels.

Look at the diagram.

It shows the apparatus Stephanie uses.

thermometer
copper can
———————1 1009 water
spirit burner
liquid fuel
Look at the table. It shows her results.
starting final mass of fuel
temperature .
fuel temperature of | temperature of T burned in
- O changein °C
water in °C water in °C grams
paraffin 20 45 25 0.6
petrol 20 40 20 1.2
ethanol 18 48 30 1.8

(@ (i) Write down how Stephanie made her experiment a fair test.

© OCR 2012
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(b) Look at the results for paraffin.
0.6 g of paraffin was used to heat 100g of water.
Calculate the energy transferred per gram of paraffin.
Use the equation
energy = mass x specific heat capacity x temperature change
The specific heat capacity of water is 4.2 J/g °C.

Give your answer to three significant figures.

ANSWET ...ttt Jig [2]

(c) Stephanie decides to use paraffin in a camping stove, even though it is slightly more expensive
per gram than ethanol or petrol.

Is this is a sensible choice? Use only the data in the table to explain your answer.

[Total: 6]

END OF QUESTION PAPER

© OCR 2012



PMT

22
BLANK PAGE

PLEASE DO NOT WRITE ONTHIS PAGE

© OCR 2012



23

PLEASE DO NOT WRITE ON THIS PAGE

OCRY

RECOGNISING ACHIEVEMENT

Copyright Information

OCR is committed to seeking permission to reproduce all third-party content that it uses in its assessment materials. OCR has attempted to identify and contact all copyright holders
whose work is used in this paper. To avoid the issue of disclosure of answer-related information to candidates, all copyright acknowledgements are reproduced in the OCR Copyright
Acknowledgements Booklet. This is produced for each series of examinations and is freely available to download from our public website (www.ocr.org.uk) after the live examination series.

If OCR has unwittingly failed to correctly acknowledge or clear any third-party content in this assessment material, OCR will be happy to correct its mistake at the earliest possible
opportunity.

For queries or further information please contact the Copyright Team, First Floor, 9 Hills Road, Cambridge CB2 1GE.
OCR is part of the Cambridge Assessment Group; Cambridge Assessment is the brand name of University of Cambridge Local Examinations Syndicate (UCLES), which is itself a

department of the University of Cambridge.

© OCR 2012

PMT



PMT

24

*Jagquinu 8]oyM 1saJeau 8yl 01 PaPUNOJ Usad 10U aARY auliojyd pue Jaddod Jo sassew d1wole aAne|al syl

"pa111Wo usaq aney (S0T-06 S1aguinu 21WoIR) sploullde ayl pue (T/-8G Slagquinu o1wole) sploueyiue| syl «

11T 01T 60T 80T 10T 90T S0T 0T 68 88 /8
parednusyine wnjuabiusos wnppessiep wnusulLsw wnissey wnuyoq wniBlogeas wniugnp winipioyiayIng wniunoe wnipes winioue.y.
AlIn} 10U Ing pauiodal usaq aney 9TT-ZTT SI9QWINU J1WOIe YIIM SJuswa|] 6y sq N SH ug Bs ad 1y LIV ey a4
[z22] [122] [892] [222] [¥9z] [992] [z92] [toz] [222] [9z2] [ezz]
98 g8 8 €8 Z8 18 08 6. 8L 9L Sl v €L ZL LG 9G S5
uopes aunelse wniuojod yanwsiq pes| wnijjeyy Ainasaw pjob wnuiye|d wniwso wniuays uaisbum wnpejuey wniuyey wnueyiue| wnyeq wnisaed
uy v od Ig ad 1L BH ny d SO ay M el JH <€ eq s
[zzz] [o12] [602] 602 102 702 102 oy G6T 06T 98T 78T 18T 8.1 6ET LET €eT
¥S €G 25 16 0S 6t 8y Ly 14 St 44 cp 47 187 04 6¢ 8¢ L€
uouax aulpol wnunje1 Auownue un wnipui wniwped JENIS wnipejjed wnipoys wniusyini wninauyosy wnuapgAjow wnigolu wniuoalz wnmA wnnuoas wnipigni
ax _ al as us ul P2 by pd Uy ny ol on aN 1z A 13 ay
1€T 12T 8Z1 4A) 61T STT Z1T 80T 90T £0T 10T [86] 96 €6 16 68 88 g8
9e Ge e €e z€ 1€ 0¢ 62 8z 12 9z 14 Z4 €z 22 12 0z 61
uoydAuy aulwolq wniuaas oluasie wniuew.ah wnijeh oulz Jaddoa 101U 1/eqod uoJ asauehuew wniwoJayd wnipeuea wniuein wnipueds wniofes wnissejod
» g E sy 99 e uz no IN 0D o4 upn 1 A 1L 28 0] N
¥8 08 6. Sl €L 0L 59 g€9 6G 6G 9G el Zs 16 8t Gt ov 6¢
8T LT 91 g1 4! €T Z1 11
uobue auLIolyd anyns snioydsoyd uoolI|Is wnwnge wnisaufew wnipos
1y 10 S d 1S Iv BIN eN
ov G'ge z€ 1€ 8z 12 44 ord
0T 6 8 L 9 S Jaqunu (uoloud) o1wole ¥ I
uoau auuonyy uabAxo uafonu uoqued uoioq aweu [LITTVSED] wniyu|
SN | 0] N 0] g JoquiAs o1wole ag [l
0z 61 91 2 Z1 1T ssew d1Wwole aAIe[al 6 L
4 T Adx
wnipay uaboipAy
9H H
14 T
0 L 9 G % € z 1

sjuswWa|3 81 JO 3|geL dIpoliad ayL

© OCR 2012




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (ColorMatch RGB)
  /CalCMYKProfile (U.S. Sheetfed Uncoated v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Preserve
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /CreateJDFFile false
  /Description <<
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [595.245 841.846]
>> setpagedevice




